
For single panel mounting, see our innovative monomount standoff system at: www.pizazzsystems.com
multimounts are patented under US Patents # 6,470,612, # 6,974,290, European Patent #1095366 and counterparts thereof in other countries.

 Pizazz and multimount are registered trademarks of Pizazz Group Limited. © 2019

www.pizazzsystems.com

A
d

d
 p

an
el

 t
h

ic
kn

es
s 

to
 

b
o

lt
 le

n
g

th
s 

b
el

o
w

O
p

ti
o

n
al

 p
an

el

A PartA Part

M4 Bolt M4 Hex Nut

M4 x 08 Lock Washer

Mounting A parts back to back

Add panel thickness to bolt lengths above
.156” .281” .375”

The intellectual property in this drawing  
is the property of Pizazz Group Limited, 
Auckland, New Zealand.  
Copyright © Pizazz Group Limited 2021. 
Unauthorised use prohibited.

Installing an A Part on a panel

M4 x Ø8 Lock Washer

M4 x Ø11 
Washer

(optional) M4 Hex NutM4 Bolt

A
dd

 p
an

el
 t

hi
ck

ne
ss

 to
  

bo
lt

 le
ng

th
s 

be
lo

w

A Part

Designed for displaying changeable graphics

www.pizazzsystems.com

®multi•mounts
P E R F O R M

A
N

C
E Q

U
A

L I T Y  A N D

GUARANTEED


